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WORKSHEET

Scalar multiplication

1 Given the position vector v = (1, —2) draw the following

a Vv

d 0.5v
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2 Given the position vector u = (2, 195°) draw the following

a

C

d

3 Givenw = (2, 3), label the following on the diagram

a

b

u

2.5u

—0.8u

w
—W
2w
—0.5w
1.5w

—2.5w

© Cengage Learning Australia Pty Ltd 2014

MATHS11WK11008

www.nelsonnet.com.au



‘nelsonnet Sof

y
/ ’ /
/ 4
N /4
/| /
/
~6 =5 A =3 -2 110 3 4 X
/. ;
4 /
I 4 P4
4 Givena = (3, 4) find:
a —a b 5a
c 2.5a d —9a
e a+4a f a—6a
g 2a+ 5a—3a h ma—a
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5 Givenb = (6, 150°) find:

a 3b b 1.8b

c 21b d —b

e —4b f —9.5b
g 3b+5b h 3b—8b

6 Givenx = (5,2),y=(—4,7)andz = (—3, —6) find:

ax+ty by-+z

c 2x + 3y d 5x — 2y
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e —4x + 8z f —6x— 3y

g 2x—y+3z h —9x + 2y — 10z
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Answers 3

i
1 a y a ® p
1 // p d
1 N ¥ e
-2 410 ) X // : //
iy ﬂ c 1
//
~6 =5 A -3 2 110 4 x
b y
—10 2 X f//z
1 : b
3 ; ¥ 5
6 4 a (—3,—4)
b (15,20)
c y
> ¢ (7.5,10)
4
d (=27, —36)
_1() X
! e (15,20)
f (=15, —20)
a1 17 g (12,16)
TioNd] * h 3m—3,4m — 4)
i 5 a (18,150°)

2 a 5 b (10.8,150°)
¢ (126,150°)
d (6,330°
_Z;Lj" - 510 X
a= 2195 T e (24,330°
f (57,330
I & 15D g (48,150
: =
—050 o5 1 15 2 % h (30, 330°)
)
6 a (1,9)
Cc y b (_7, 1)
! c (—2,25)
Bl o B d (33, —4)
¢ = (5;]1950)
e (—44, —56)
d [ [} el f (—18,-33)
| g (5 -21)
-05 |00 15 2%
P h (—23,56)
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